

exo 7

transfo Abel $(a_n)_{n \geq 0} \downarrow$ conv \mathbb{R}
 $(\sum_{k=0}^n b_k)_{n \geq 0}$ bornée (Fejér) } $\Rightarrow \sum a_n b_n$ cv

méthode = transfo. Abel

$$\begin{aligned} \sum_{n=0}^{\infty} a_n b_n &= \sum_{n=0}^{\infty} a_n (s_n - s_{n+1}) + a_0 b_0 \\ &= \sum_{n=0}^{\infty} a_n s_n - \sum_{n=0}^{\infty} a_{n+1} s_n \quad \downarrow n \rightarrow n+1 \\ &= \sum_{n=0}^{\infty} (a_n - a_{n+1}) s_n + a_{N+1} s_N \end{aligned}$$

or $|(a_n - a_{n+1}) s_n| \leq \frac{M}{\geq 0} (a_n - a_{n+1})$ de \sum abs cv par comp.

$(\sum (a_n - a_{n+1}))$ cv car télescopique et (a_n) cv, dc cv

$a_{N+1} s_N \rightarrow 0$ car $a_n \rightarrow 0$ s_n bornée dc $\sum a_n b_n$ cv

qse

$$\begin{aligned} \sum_{n=p}^{p+N} a_n b_n &= \sum_{n=p}^{p+N} (a_n - a_{n+1}) s_n + a_{p+N+1} s_{p+N} + a_p s_{p+1} \\ &= \sum_{n=p}^{p+N} a_n s_n - \sum_{n=p+1}^{p+N+1} a_n s_{n-1} = \sum_{n=p}^{p+N} a_n b_n - a_{p+N+1} s_{p+N} + a_p s_{p+1} \end{aligned}$$

$$\left| \sum_{n=p}^{p+N} a_n b_n \right| \leq M \underbrace{\sum_{n=p}^{\infty} (a_n - a_{n+1})}_{a_p} + 2a_p M \leq 3M a_p$$

\hookrightarrow terme de majoration de a_p cv $\rightarrow 0$